> A
A & 0l & AF 2 E A A
20218 & =04 LBHSI A AbSI = X 1t
At = X ot
S EIEDES]
HOjoI M e O N & (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
t3l = X2t 160,209,859 129,670,069 30,539,790
= 97,080,786
s 1,024,000
J| 613,921
< 9,529,816
Al 51,961,336
HeI=X & 25,422,931 21,313,472 4,109,459
=2 12,196,434
< 2,361,019
Al 10,865,478
ZOH SOt E X R 14,204,267 13,251,672 952,595
=2 9,600,982
< 1,364,460
Al 3,238,825
oI XN (EX) 5,737,927 5,314,218 423,709
=2 4,016,549
< 516,413
Al 1,204,965
301 LEEAF 5,737,927 5,314,218 423,709
= 4,016,549
< 516,413
Al 1,204,965
01 MI2ZE +06l= 5,737,927 5,314,218 423,709
O ZHAS XA 5,737,927,000& * 14 5,737,927
=2 4,016,549
< 516,413
Al 1,204,965
B+ (IxE) (EX) 523,320 500, 162 23,158
= 366,324
S 47,099
Al 109,897
301 LEHZ 523,320 500, 162 23,158
2 366,324
< 47,099
Al 109,897
01 MEIE2EZ X +06l= 523,320 500, 162 23,158
O Ho===X&(Il=x) 523,320,000 14 523,320
2 366,324
= 47,099
Al 109,897
ZOH-L R (HAR) (BEX) 380,097 362,177 17,920
= 266,084
< 34,204
Al 79,809
301 LA F 380,097 362,177 17,920
= 266,084
< 34,204
Al 79,809
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01 A28 H =62 380,097 362,177 17,920
O ZoH==L XA (Xa2) 380,097,0008 = 14 380,097
266,084

34,204
79,809

= HnH

A NH (EX) 266,405 266,405 0
213,124

15,984
37,297

= N H

308 MtXIEHHMSOIH 266,405 266,405 0
213,124
15,984
37,297

= Hn W

S 2SHUSILEAS A S 266,405 266,405 0
[ ZoHel 2A=ZHI XA 266,405,000& = 14 266,405
213,124

15,984
37,297

= M W

0ol BXJ1J] ug (EX) 5,537 5,073 464
4,430
332
775

= M W
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2
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5,637 5,073 464
4,430
332
775

= N W

01 A28 H +0dl= 5,537 5,073 464
EX010 W¥ 5,537,000& = 14| 5,537

4,430
332
775

=z o W

ZOHel Xt BXII0 X (

H
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) 9,523 20,000 N~10,477

< 2,857
Al 6,666

301 LEEAS 9,523 20,000 N~ 10,477

2,857
Al 6,666

H

= 9,523 20,000 A~ 10,477
g2 2017 NE
9,523,000& * 14l 9,523

2,857
6,666

= M

oIl XN (sXNLxel) (BX) 580,602 571,936 8,666
290,301

87,090
203,211

= Hn W

307 21201 A 580,602 571,936 8,666
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87,090
203,211

= Hn

05 RIZt2IE =2 580,602 571,936 8,666

580,602,000& = 14 580,602
290,301

87,090
203,211

= MW

0
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e

= 0f o3
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e

Xel X ( I Xr2l) (

H
FA

651,688 637,555 14,133
325,844
97,753
228,091

U
r

= MW

101 1Al 651,688 637,555 14,133
325,844
97,753
228,091

= MW

2= 651,688 637,555 14,133

O o et d el XA
651,688,000& = 14 651,688
325,844
97,753
228,091

(e)
~
o
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-
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= N H

0z
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e
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0

BrE A Xtel AP (AIZEH) (E=X) 131,325 127,579 3,746
65,663
19,698
45,964

= 0N W

101 1Al 131,325 127,579 3,746
65,663
19,698
45,964

= N

131,325 127,579 3,746
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-
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[=]
O ZoHel LBtE (A2ZHA) L Rtel A
131,325,000& = 14! 131,325
65,663
19,698
45,964

= MW

S50 MASEMHAAFSH XA (BX) 1,910 8,607 N6,697
573
1,337

= M

301 LetEH S 1,910 8,607 26,697

573
Al 1,337
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01 A28 H ==6l= 1,910 8,607 N6,697
g X&

1,910,000 =+ 14l 1,910
573
Al 1,337
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ZHLESXNEASHAY (EX) 5,778,020 5,137,848 640,172
4,044,614

520,022
1,213,384

= N H

307 21201 & 5,778,020 5,137,848 640,172
4,044,614

520,022
1,213,384

= N H

05 22t & =3 5,778,020 5,137,848 640,172

5,778,020,000& * 14 5,778,020
4,044,614
520,022
,213,384

—_

= W

ZUUESEZMHIATE (EX) 105,243 269,583 A 164,340
21,049
84,194

= M

307 21201 & 105,243 269,583 A 164,340

21,049
Al 84,194

H

05 212t & =3 105,243 269,583 A 164,340

105,243,000& * 14 105,243
21,049
84,194

= M

ZHSSHAMHMER2YE (BX) 4,100 4,100 0
2,050

615
1,435

= M W

301 LEIENF 4,100 4,100 0
2,050

615
1,435

= N W

01 A28 X =0dl= 4,100 4,100 0

H AtHEI X1 &

,100,000& * 14| 4,100

2,050
615

1,435

e
a
=
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o

= N H

8,570 6,429 2,141
5,999

771
1,800
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A
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>
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= N H

307 glz2tol & 8,570 6,429 2,141
5,999

771
1,800

= N H
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05 QIZ2tR E 2 8,570 6,429 2,141
[ ESHHE=S=EXINMZH(HIRA)
8,570,000& = 1A 8,570
= 5,999
& 771
Al 1,800
ZOoHel DX JAAY 20,000 20,000 0
307 2Iz2t0| & 20,000 20,000 0
11T A EXAIEEX 20,000 20,000 0
[J Z0Hel DNEX A 20,000,000 = 14l 20,000
HOHAAIESH XS 3,633,123 3,622,137 10,986
& 445,193
Al 3,187,930
LOHIFT2UHESAIERYE (EX) 329,631 310,584 19,047
= 52,374
Al 277,257
307 2iztol A 329,631 310,584 19,047
= 52,374
Al 277,257
10 MM SAANEEHESIGHEX 329,631 310,584 19,047
[0 HOe F=2ESAE 89
329,631,000& = {14l 329,631
= 52,374
Al 277,257
ZHEIHMEHRYE (EX) 212,071 216,929 N4 ,858
& 35,247
Al 176,824
307 2iz2tol A 212,071 216,929 N4 ,858
& 35,247
Al 176,824
10 MM SAANEEHESIGHEX 212,071 216,929 N4 ,858
O =S4y 29 212,071,000 = 10 A& 212,071
o= 35,247
Al 176,824
ZOCIME QI SXRMAEHRZYE (BEX) 211,390 220,806 N9,416
= 41,067
Al 170,323
307 QI2t0| ™ 211,390 220,806 N9,416
& 41,067
Al 170,323
10 A SXNANEEHESIHEX 211,390 220,806 AN9,416
[0 O MEOSARLAEH 29
211,390,000& = 1JH A 211,390
o= 41,067
Al 170,323
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X ZH
S =

Akl = X1 ot

FUHAANE2SXJ

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oo EsE=EN22Y (BEX) 1,249,368 1,193,231 56,137
< 16,000
Al 1,233,368
307 gl2tol & 1,249,368 1,193,231 56,137
< 16,000
Al 1,233,368
05 BIZHRI & 3 1,249,368 1,193,231 56,137
O FZesg=sis 249
1,249,368,000& * 1JH 2 1,249,368
< 16,000
Al 1,233,368
ZOHISRAIESAR=E (BEX) 133,489 193,200 AB9,711
< 40,047
Al 93,442
301 LA F 133,489 193,200 AB9,711
< 40,047
Al 93,442
12 J|EtE 4= 133,489 193,200 AB9,711
UL =STAIE SAL =&
133,489,000& * 14 133,489
< 40,047
Al 93,442
EZTZMHATEHXNZAHR2E (BX) 190,994 205,000 A 14,006
< 38,012
Al 152,982
307 21201 A 190,994 205,000 A 14,006
< 38,012
Al 152,982
05 BIZHRI & 3 190,994 205,000 A 14,006
O SSZMHUNEXNZMH 2
190,994,000 * 14 190,994
< 38,012
Al 152,982
STSHEMHANSNALAH2E XA 8,000 40,500 A 32,500
201 et 8,000 7,500 500
01 At 2teltl 8,000 7,500 500
O SSZMHY NS XNJME X2
8,000,000& = 14l 8,000
ZOUAHIHFAERSY (BX) 308,352 324,281 A 15,929
< 61,670
Al 246,682
307 21201 A 308,352 324,281 A 15,929
< 61,670
Al 246,682
10 ALSISXAIEEE2EHEX 308,352 324,281 A 15,929
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X ZH
S =

Akl = X1 ot

FUHAANE2SXJ

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O ZOHQ HIHFAME 22
308,352,000 * 14 308,352
= 61,670
Al 246,682
ZOIHZ=ANERY (BEX) 563,727 504,317 59,410
< 112,746
Al 450,981
307 gl2tol & 563,727 504,317 59,410
< 112,746
Al 450,981
10 AL SXAIEEE2EH EX 563,727 504,317 59,410
O ZHAHFAE F  563,727,000& * 1A 563,727
< 112,746
Al 450,981
ZHAHFAIL0IER ARDS (2F) 1,800 3,000 A 1,200
< 540
Al 1,260
307 glz2+ol & 1,800 3,000 A 1,200
< 540
Al 1,260
11T MISRASER 1,800 3,000 A1,200
O ZMHAUHFAE0EXN AHWS
1,800,000& * 14 1,800
< 540
Al 1,260
HOHQIHATHBAIL 29 (2X) 406,301 370,289 36,012
< 44,490
Al 361,811
307 i+l & 406,301 370,289 36,012
= 44,490
Al 361,811
10 ALSISXAIEEE 22X 406,301 370,289 36,012
0 T Nej HEANE 29
406,301,000& * 14l 406,301
< 44,490
Al 361,811
HOHQIHFAIL SIAX NEBMEIHNZ XY (2X) 10,000 10,000 0
< 3,000
Al 7,000
301 LEAZ 10,000 10,000 0
< 3,000
Al 7,000
01 MEI2EZE+05l= 10,000 10,000 0
O ZOHAHFAE E4AX NSMEFHZ A
10,000,000& * 1H 10,000
< 3,000
Al 7,000




AN ALEI =X

g Zoeg=sisd

el BOjQIAL 2N (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ZOHA=RAIE 2el 8,000 8,000 0

201 £B-2d| 8,000 8,000 0
02 3323l 8,000 8,000 0

O AIEEHIKR XY 8,000

O ZoHel EXIAIE 2= 8,000,000& * 14 8,000
ZOHQI ML & XA 2,641,292 216,492 2,424,800
ZHOH QI EHXII 2 AFSE TH & 183,402 188, 132 A4,730
201 L2l 45,662 46,612 A 950
01 At 22l 33,105 34,055 A 950

0O ge+=24| 18,425
ol

O ZOHQ UHSX EX 2
1,0008 * 2,00004 2,000
O TOHQIZR CHRl A& ATH R
10,0008 * 25% 2,500
O Zojo Mg 3X L o4 Ko DS
1,000,008 * 1l 1,000
O IXMN gz 25 5 NN
2,000,0008 * 14! 2,000
O 849 2 22 HME 1000008 * 203l 2,000
O #HARIII A2F g 7,725
=8) B4 2 o
1,300,008 « 10§ * 53] 6,500
ZRIH) EY ¥ CH
350,0008 * 1CH * 33 1,050
mA £l 175,0008 * 104 * 13l 175
O #HARIII| 46 1,200,008 * 14 1,200
0 BHASS=XIIE 23442 X
4,00020 * 7502 3,000
0292y 7,280
O ZOHO! +3 X2 AR AA+E
70,0002 * 8 * 123 6,720
O ZOHOI BOAAE X MRS AAS
= 70,0008 * 8% + 13| 560
0 2l 4,400
O o4Ol YLER 8,008 * 5 + 1102 4,400
02 ZZ 2| 12,557 12,557 0
02z 2 HA 12,557
O ZOH(SE)ZXIE SIts 23
2,1808 * 150% * 128 3,924
O ZOHQIZERTY ABBEHE DN LS
2m2 2,1808 * 3302 * 128 8,633
202 048 9,600 12,400 £2,800
01 200 bl 9,600 12,400 £2,800
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g Zoeg=sisd

SHl: OOl EH R & X & K| 2 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O e sX g8
20,000& = 5% = 96¥ 9,600
301 LEHZ 5,040 7,020 A 1,980
09 HALAHIX RS 1,200 3,180 A 1,980
O &= ZOoHe THE AL &K 24
60,000& = 109H 600
O &ZoHel JisZoIta AL AHlE 4
60,000& = 109H 600
12JEEd= 3,840 3,840 0
00 ZO0HQ BHOAL AIMIAMRA ESH
20,0004 = 29 = 83| » 12& 3,840
307 gl2tol & 123,100 122,100 1,000
03 QIZtHHHE2IEHEX 66,000 60,000 6,000
O ZOH M A&dxz K&
500,000& = 1104 « 123 66,000
11T M SXALSE EX 57,100 62,100 A5,000
0 SZZ0He Zelha BHFI HAH(RNHE
OHer) 3,500,000& = 14 3,500
O XxMEe =208 2
6,700,000& = 14 6,700
O ZHR2s =208 22
6,700,000& = 14 6,700
O StUHMa e 8243 2,000,000 = 14l 2,000
O unsde =238 2¢
5,700,000& = 14 5,700
O AZEMe =208 29
5,700,000& = 14 5,700
0O & XEoe & JIgdA
3,000,000& * 14 3,000
[J sote 2278 24 6,900,000& = 14 6,900
O XNEHFEMY =208 24
3,700,000& = 14 3,700
O Hgede Z27d8 24
6,500,000& = 14 6,500
O H+&H0e =238 24
3,000,000& = 14 3,000
OdEHMNY =208 24
3,700,000& = 14 3,700
ZoAEASA 4,400 4,400 0
202 (44l 2,400 2,400 0
01 S LHOIYI 2,400 2,400 0
O Z0HQ HoAE S8 2 g2
80,000 = 2% = 10 1,600
O HOoHe HeAIE &
20,000 = 2% = 20 800




A AMIEX
M Zj=NEN
CHol: A ONQICHH LT E Kl R cholE )
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SN ED B (3H) - MEAY - BAS %Eﬁ HD=2
405 XHA&HF S HI 2,000 2,000 0
01 AL 2 ZF S| 2,000 2,000 0
[ ZOoHeIxeE 2R o HogE & 2
200,0008 * 100 & 2,000
ZOHCIO & DIE &AL 20,000 20,000 0
307 212t0| & 20,000 20,000 0
1 AFSIE XA E X 20,000 20,000 0
O &oele & IS st At 20,000,000& * 14 20,000
Hofelg A ,429,290 0 2,429,290
401 AlEHIZL 2 0HY| ,429,290 0 2,429,290
01 Al&H| ,300,000 0 2,300,000
[ HOojels a2 2Hg 2,000,000,000& = 1Al 2,000,000
[0 R.29x A2 EHZ2A
300,000,000& = {14l 300,000
02 22l 122,090 0 122,090
O Hojela A (A5, HI|,E4 S)2eldl
5,000,000, OOO-Cr’J * 2.17/100 108,500
0 F.88Yx A2 EHSAF 22l
300,000,000& * 4.53/100 13,590
03 AIEE2HH]| 7,200 0 7,200
] &Zojelga HAg
2,000,000,000& * 0.36/100 7,200
A E FXFE B 22JAIAE 2H 4,200 3,960 240
201 2Et2Ay| 4,200 3,960 240
02 B232%H| 4,200 3,960 240
O HBMHUNMESFEIFSA e 22/AIAE S X2
Zl 350,000& * 1200 € 4,200
SO QI =2 X X & =Tl ,559,596 2,072,946 486,650
= 975,630
& 340,062
Al ,243,904
TR SAHIZ2XE (EX) 4,000 3,000 1,000
= 2,800
& 360
Al 840
301 LEtE A= 4,000 3,000 1,000
= 2,800
& 360
Al 840
01 Al B & A 46 2 4,000 3,000 1,000
[0 L0 sSaHI2Xd
1,000,000 = 4H 4,000
= 2,800
& 360
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1,890

1,920

7,080
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= W
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= M

170,000

34,000
136,000
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H
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AR S XA E X

O XA X
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IH 29
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170,000,000& = 1JH A
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170,000

34,000
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130,000
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LEMEMEIA BIRH X (BX)

= N H

585,987
410,191

52,739
123,057

499,440

86,547

307 gl2tol ™

= N H

585,987
410,191

52,739
123,057

499,440

86,547

O S2WENUA B X2
585,987,0008 * 14!

= W
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52,739
123,057

499,440

86,547
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3,437
13,748

18,000

AB15
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13,748
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1A SXAIE 2 =
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= N H

10,800
7,560
972
2,268

,950

A 150

O odogeXd b X
10,800,000& * 14

= W

10,800

10,800
7,560
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2,268

,950

A 150
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89,100

17,820
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A 10,900

AR S XA E X

O d=ZHAMEXAME =2
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89,100,000& = 10024
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Al
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17,820
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100,
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26,000
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307 21201 &
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130,000
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130,
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AR S XA 2

O WSAMIMBLSHEH 29
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00,000& = 1JH2A

=

130,000

130,000

26,000
104,000
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ZOHATIIS X SALAE (2X)
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Al

133,333

20,000
113,333
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A 16,667
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AVEl = X Bt
Zoj=xE

SHl: Z 0§ Q= XIKI &t f (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
0 &oel THIOIEXNSAIHEH &9
133,333,000& * 1JH A 133,333
= 20,000
Al 113,333
ZOHCIDIE X K/HMHAY (EX) 150,000 150,000 0
== 28,545
Al 121,455
307 2Iz2t0| & 150,000 150,000 0
& 28,545
Al 121,455
11 A EXAIEEX 150,000 150,000 0
O HOHRIIIESXNIHMEH 24
150,000,000& = 1JH A 150,000
= 28,545
Al 121,455
K MZEOHQ BHOALE MSXE (BEX) 130,000 130,000 0
= 24,706
Al 105,294
307 S12t0| & 130,000 130,000 0]
= 24,706
Al 105,294
11 A EXAIEEX 130,000 130,000 0
O XANMEHHYAIEASIJAMNEHSH
130,000,000& = 1JH A 130,000
== 24,706
Al 105,294
NEAL EENESH 2HEIH 46,000 46,000 0
307 212t0| & 46,000 46,000 0]
11 A EXAIEE X 46,000 46,000 0
[ DSAN SERE+H 29N
46,000,000 = 1CH 46,000
KNHEBHIHAENSHXNALMHSY (BX) 65,000 65,000 0
= 13,000
Al 52,000
307 QI2t0| & 65,000 65,000 0
= 13,000
Al 52,000
11 Al EXAIEEX 65,000 65,000 0
O XANMEHS HEAXNHANIJLAEH 2H
65,000,000€ * 1004 65,000
o 13,000
Al 52,000
CIHHZT QO AAMYLSXRAMHSIEXR (BEX) 55,000 50,000 5,000
= 11,000
Al 44,000
307 QI2t0| & 55,000 50,000 5,000
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Off &t 24

=

i
2m

H

Al
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= M

55,000

55,000

11,000
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517,515
362,261

46,576
108,678

211,464
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307 21201 &

= M W

517,515
362,261

46,576
108,678

211,464

306,

051

O 22 =2asAb A X3

517,515,008 * 14!

= MW

517,515

517,515
362,261

46,576
108,678

211,464

306,

051

PHHML LS SSMEIAXE (EX)

= W

266,454
186,518
23,981
55,055

246,122
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Al 4,414,604
COIHAUHH HE (ME2tHH) (BX) 1,144,104 1,476,000 A 331,896
s 200,000
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L= B

el
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el
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0
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 760,000
Al 784,104
401 Al HIZ 201 I 1,144,104 1,476,000 A 331,896
s 200,000
< 160,000
Al 784,104
01 A& HI 1,140,000 1,476,000 A 336,000
O Loldudy 24 1,140,000
O Mazstdg 1,140,000,000& * 14l 1,140,000
s 200,000
= 160,000
Al 780,000
03 Al 2 THHI 4,104 0 4,104
O =eALHE 2
1, 140,000,000 = 0.36/100 4,104
COIHAHH HE(FHAFIE) (BX) 3,412,000 0 3,412,000
s 824,000
Al 2,588,000
401 Al HIZ 201 I 3,412,000 0 3,412,000
s 824,000
Al 2,588,000
01 A& HI 3,412,000 0 3,412,000
O Loldudy 2 3,412,000
O F=AHANF=XE 1,412,000,000& * 14l 1,412,000
s 824,000
Al 588,000
O =XERXM 2,000,000,000& * 14 2,000,000
229 2 OS2 ds - B 1,000,000 1,050,000 A 50,000
402 QIZ2EX20l A 1,000,000 1,050,000 A 50,000
01 U2 EALEX (KM M) 1,000,000 1,050,000 A 50,000
0O Z2E & OiSa& ExAtY 700,000
O Z2Y B+ 250,000,000& * 14 250,000
O Ot==z& 2228 450,000,000 * 14 450,000
0O ¢S MIIFB2Y A=
300,000,000 14 300,000
d2Y & OS2 o - 25 (EX) 85,000 578,000 A 493,000
< 42,500
Al 42,500
402 RI2HXt20l ™ 85,000 578,000 A 493,000
< 42,500
Al 42,500
02 RIZEXt 2 AL EZ (OIS ) 85,000 578,000 A 493,000
O 32Y EAd 85,000
O Z&8 Ro2e|(RE)E2E B+
45,000,000& * 14 45,000
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AN ALEI =X

HH: Lo=R AL &
CHolr Lo=TAL BHE

. SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 27,500
Al 22,500
O HeoiEZRY 24
20,000,000& =« 14l 20,000
< 10,000
Al 10,000
O M2B0nMEZ=zY B+
20,000,000& * 14l 20,000
< 10,000
Al 10,000
ZALAIE & & 2el 14,921,929 1,675,270 13,246,659
= 1,450,000
< 310,500
Al 13,161,429
SEEE 2422 209,165 226,315 A17,150
sy peley 209, 165 226,315 A17,150
201 Let249] 27,915 27,915 0
01 At 22l 6,715 6,715 0
0O get=24 6,715
O st¥E RAUAZHANAHZALESR =5
140,000& * 128 1,680
O s&EE 228 7Y 5,035
Mol SE(754 ) 1,270& = 1,5000H 1,905
X (M XI) 350& = 3,0000H 1,050
HE & EAEF 800,000& = 14 800
2EFE 4N 32,0002 = 404 1,280
02 2324l 21,200 21,200 0
03322 2 dA 21,200
O 33d dJlzg & reddszs, A A
2= 1,200,000 * 12&8 14,400
O dot==e= 80,000& * 123 960
O #FMeRg= 2,200,000& = 23| 4,400
O 2etdsies 120,000& * 12& 1,440
202 o4dl 3,000 3,600 A 600
01 = LH o4 1l 3,000 3,600 A 600
O =QAd d2F8 20,0008 « 3F * 502 3,000
206 24 101,250 112,800 A11,550
01 MHZ 4l 101,250 112,800 A 11,550
O 3&EE S5 101,250
O SR(LEAA L HERS, AHRIOH)
810& = 50¢ = 2,500 101,250
301 LEHZ 7,000 7,000 0
12JEEd= 7,000 7,000 0
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X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O st¥&Eea 350,000 = 4% = 5 7,000
401 Al HIZ 201 8] 70,000 70,000 0
01 A& HI 70,000 70,000 0
O st&E=z = 70,000,000& = 14 70,000
ZAAE EXIAMY 14,712,764 1,448,955 13,263,809
= 1,450,000
< 310,500
Al 12,952,264
SEEAMAE A (XHA) 9,400 15,240 25,840
201 Let24d] 6,400 11,640 A5,240
01 At 22l 6,400 11,640 25,240
O get=2Hl 4,000
O SEZAMANEAE 222 & 3Ttz
1,000& = 2,00001 = 23l 4,000
0O =&l 2,400
O LOANE AR
8,000& = 3 * 100 2,400
202 044l 3,000 3,600 A 600
01 SLHOYI 3,000 3,600 A 600
O SSEAMAE 2E =8
20,000& = 3% = 50 3,000
SEZAMANE HY (BX) 14,703,364 1,433,715 13,269,649
= 1,450,000
< 310,500
Al 12,942,864
401 Al HIZ 201 8] 14,703,364 1,433,715 13,269,649
= 1,450,000
< 310,500
Al 12,942,864
01 A& HI 14,071,000 1,428,572 12,642,428
[ SEEAMAIE 28 14,071,000,000& = 14 14,071,000
= 1,450,000
< 310,500
Al 12,310,500
02 Zeltl 600,000 0 600,000
O A&mgaesa 600,000,000& * 14! 600,000
03 Al 2 THHI 32,364 5,143 27,221
O SEEAMAE HE
14,071,000,000& * 0.23/100 32,364
2L Z U (ALS = XD 136,758 141,427 N4,669
ol 2 gl 117,538 121,207 A 3,669
ol 2 A (A3 =Xt 117,538 121,207 A 3,669
101 14 Hl 117,538 121,207 A 3,669
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AN ALEI =X

= HE2G A (A =X D)
chel: oIz gyl (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 2+ 117,538 121,207 A 3,669
O =2 117,538
SIEELES=
12,002& » 15% = 50AI2t = 128 108,018
O §LI22<(SEEF)
0,000& = 1€ = 119 9,520
JlE3l 19,220 20,220 A 1,000
Jl2dal (A =S X 1) 19,220 20,220 A 1,000
201 L2l 14,420 15,420 A 1,000
01 At 22l 14,420 15,420 21,000
0O ot=2Hl 12,660
O dINRES 7L 500,000& = 23| 1,000
O =EAME8X 2L 30,000 » 180&tA 5,400
O dFEX =& 15,000& * 7& ~ 12& 1,260
O ¢ARE HAN U 245 HANE R0
300,000& = 53| 1,500
O ooz &0 TH 7Y
50,000& =« 103l 500
O MR 28z 7 500,000& = 63l 3,000
[E==g.] 1,760
O M=K dRFA
8,000& = 2¥ 110 1,760
203 PR =&Yl 3,600 3,600 0
04 EMNSSIHRF=EHI 3,600 3,600 0
O M =X % 300,000& = 12& 3,600
204 A=A H| 1,200 1,200 0
01 ¥R 1,200 1,200 0
O At3 =Xt 100,000& » 12& 1,200
MRPES(ASI=SX D) 50,000 50,000 0
HEHHK = 50,000 50,000 0
HEAHHX & (A3 S X 1) 50,000 50,000 0
702 )ISHEES 50,000 50,000 0
0MNII3EES 50,000 50,000 0
O =e=Xdls 50,000,000& = 14 50,000




